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COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. Alf parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

|
Q.1

Circle the correct option i.e. A/ B/ C [ D. Each part carries one mark.

()

(ii)

(i)

{iv)

(vii)

(Vi)

(%)

For Examiner’s use only:

Which of the following is the fastest memory?

A USB flash drive B. RAM C. ROM D. Cache
What type of Software a device driver is?-

A Application software B. Productivity software

C.  System software D. Business software

Which interface is based on textual input?
A GU B. CLI
C. Menu driven interface D. Windows

Which of the following is an open source operating system?
A Unix B. Linux C. DOS D. Novell's Netware

Which of the following is used in MS Word 2010 for creating decorative effects on text?
A, Page formatting " B. Paragraph formatting
C. Word Art D. Text formatting

By default how many tabs are there in MS Word 2010 Ribbon?
A 7 B. 8 C. 9 D. 10

Which of the following is used for short distance communication?
A. Radio signal  B. Microwave C.  Infrared D. Satellite Communication

Whét represents the overall data transmission capacity of a computer network?
A Data rate B. Bandwidth C. Signal Strength D. Baud rate

Which of the following network provides centralized security?

A Client/Server Network B. Peer-to-Peer
C. Local Area Network D. Point-to-Point Network

Which of the following topology is most expensive to implement?
A Star B. Bus C. Ring D. Mesh

Which malware spreads autornatically in computer network and replicates itseif?
A Virus B. Worm C. Adware D. Spyware

Which of the following authentication method is most reliable?
A User name and password B. PIN
C. Access Card D. Biometrics

Total Marks:
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Time allowed: 2:40 Hours

9 L

COMPUTER SCIENCE SSC-I

Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplen
neatly and legibly.

entary answer sheet i.e. Sheet-B if required. Write your answers

CTION — B (Marks 27)

(i} Briefly describe Napier's Bone.

(iit) Give any three objectives of operating system.

(iv) What is meant by managing data and why is i important?

(v) Briefly describe time sharing ope

(vi) Name any three areas of applica

rating system.

tion of MS Excel.

SE
Q.2  Answer any NINE parts from the following. All questions carry equal marks. (9x3=27)
|
i Compare 1st and 3rd generation 'compute'rs.

{vii) Why are header and footer impor:'ta'nt‘in a Word document?

(i)  Differentiate attenuation and distortion:

(ix) What is bandwidth?

(x) What is meant by data transmission?

{xi) Differentiate between a server and & client computer.

{xii) What is meant by information privacy?

. (xii)  Differentiate authentication and authorization.

SECTION — C (Marks 16)

Note: . Attempt any TWO questions. All questions carry equal marks. {2 x 8 =16)
Q.3 . a - Explain four types of application software. {04)
b. Write a note on Dial-up and DSL Internet Connection. - (04)
Q.4 a. - Explain Async‘:hrondu;s'and Sy’né]%_ronoué data transmission modes with example. (06)
b. ", Explaihﬁuse of Access Card. (02)

(08)

Q.5 Expiain in detail types of netwaork based

on geographical areé.

1SAfatt—



http://www.result.pk/

- o o) ptl uﬂuhﬂfhjﬁ%‘f

43 v ) a3 o /j i 2.40 2
-LZ/U'UJJ’ (2)s ngfcufrr’ ol HZI09) F = (12 o U4 (é{dii‘ GFJL?’C_-D.&J‘QU?LQU'}’L“(}"” sl “r»” s A

_u“’b.)_.xg hstdlazbiz £ LSzl S b(Sheet-B)214E]

(9x3=27)

(2x8=16)
(04)
(04)
(06)
(02)
(08)

(27 /Lf‘ ) r»,-a

e Al Az g Sz (09) e Ut e
Kol R rd st o)
iufmu:f/‘?JNapEer’s Bone {ii}
S erede AT (i
g luf,.,uf.».:_; [ (Data managmg).ﬁ"’ :3 (iv)
JAoles /"’Uf’/ CE /T Time Sharing V)
uuf/lzf'tA:Areasufz:Jl.&fLMS Excel (vi)

- :

?ug("luxf Header and footer u:“::/ﬁﬁn (i)
-u://u,lfg: J}u:Distortioﬁu%ttenuation {viii)
%</ Bandwidth (ix)

?:‘:_)I/g:;. Data Transmission (x)
SIS A ClientsiServer (X))
?a‘_.ﬂ/l_fr_lnformation Privacygf.flgafiﬁi‘él {xii)
_u /U A~ Authorization.s/Authentication  {xii)

(18, 48) pro

(_u}.cl/./:"’cﬁu:‘ifrv"_g-:d’dfr » el

_qubd"’.; J('L—’"f;leJ Application Software .l :P"/:Ulr

..u"’{.d..f i,DSL Internet ConnectionsDigl-up -

_ufubr_u;flxd"" Jw/‘u’“‘l’/t‘b Synchronous.s/Asynchronous  —of

_J/Ejbdl.ﬁff FAcess Card  ww
-J/ULJC_rMFLJIJJJHIU’)VJGGOQF&DHJCE! Area

-

— {SA 1811 ——

:P;-:Ub’

: ::/U Iy



http://www.result.pk/

0/

Roll No. Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

Time allowed: 20 Minutes

COMPUTER SCIENCE SSC-I
SECTION—A (Marks 12)

" (Old Syllabus)

NOTE:- Section-A is compulsory, Al parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1

(M

(i)

(i)

(iv)

(vi)

(vii)

(vii)

(ix)

(xi)

(xii)

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

Second bar on window of MS Word 2000 is called:
A Menu bar B. Tool bar C. Status bar D. Formatting tool bar

An 8-bit address bus can address a merhory of:
A. 1 Byte B. 8 Byte C. 256 bits - D 256 Bytes

Any command that is NOT available for selection in the drop-down menu list appears:
A Dark B. invisible C. Dim b. Underlined

An Interpreter is a type of: ‘
A System software B. Service software
C. Utility software D. Application software

The number of tracks in one cylinder of hard disk with two platters is:
A 4 B. 8 C. 16 D. 32

The data from RAM can be accessed at a speed close to:

A Supersonic speed 8. Speed of light

C. Speed of sound D, Speed of ultrasonic

CGA monitor displays colours.

A 4 B. 16 C. 64 D. 256

Which of the following is used to produce soft copy?
A. Laser printer  B. Plotter C. CD-Writer D. Dot-Matrix Printer

RAM of a computer is a:
A, Permanent storage B. Secondary storage
C. Primary storage D. Backing storage

Which of the following is a Single User Operating System?
A Windows B. UNIX C. LINUX D. Windows NT

A translafor is a
A System software : B. Low levei language

C. Transtating machine Application software

o

Vacuum tube was invented in:
A 1899 E. 1906 C. 19216 D. 1926

For Examiner’s use only:

Total Marks:

i

Marks Obftained:
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COMPUTER SCIENCE SSC-i
-(Old syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required, Write your answers

s

s

o

[

neatly and legibly.

Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. {9x3=27)
(1) Name one model of each generation of computers.
(i) What is meant by secondary storage? Name some secondary storage devices.
(lii} Name any two very important input devices. Also describe their use in a computer system briefly.
{iv) How do PROM and EPROM differ from each other?
v} What is the difference between DOS and DOS Sheli?
(Vi) What is meant by ‘plug and play'?
{vii) List any three advantages of using a word processing program over a type writer.
(viii)  Name the types in which magnetic disks can be divided.
{i%) Compare MY COMPUTER and WINDOWS EXPLORER?
{x) Write any three positive impacts of computers on our lives.
{xi) Briefly explain the difference between Impact Printers and Non-Impact Printers.
{xii) Write main functions of Central Processing Unit (CPU).
(xiil) Name the types of commands used in DOS. Give at least three commands in each case.
SECTION — C {Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2x8=186)
Q.3 a What is meant by 'Bus’ in Computer System? How does Data Bus differ from an Address Bus? (04}
In what ways RAM and ROM differ? (02)
What is the significance of Assembly language? (02)
Q.4 What is the benefit of using a screen saver? (02)
Describe basic differences between Analog and Digitat computers? (03)
c. What is a pictier? How does it work? {03)
Q.5 Differentiate between SIMMs and DIMMs? {02)
What are Computer Virusés? Describe some of their activities. (04)
C. Describe the working and function of ALU. (02)

SECTION — B {Marks 27)
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